EEE DB KFE—E

WEW 680k (WERLSEHDN1/6) s%E = = )’””*E( — St
&5 m/%> m

=® 275fn
FIK#EHF T S26 5.35 462,240 462,240
HMER 240K \
pallbe:= S57

N L (EARD]EE) (S39) 0.965 83,376 545,616 o A=
KEHES 0.P.+85.614m (Uhi#lfI+0) | AReAS
KREFEHIHD SDE AN S44 0.672 58,060 603,676 S
(KRR RTFEEB UL SVLDES) i
FEFS L S45 0.309 26,698 630,374
mANE 104m
BAKR IE5&EF) 1 F7k S46 0.654 56,506 686,880

FEFEERAE B3EmM

FEIKBRREERE 7,280k GOt E£mEEDFI35%)
HRIEERE 3,850k GRS EEDH53%) SN H9 0.754 65,146
AR 1,850m/5F A%t 13818 | 1,193,875

1,128,729

EEMFER H3 5114 441,849

1,193,875




